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1) 215 x4 = 2) 126 x 3 =
W/ 2 1 5 35911 1 2 6
X X
4 3
8l lo /s
fay Aay
3) 191 x7 = 4) 250 x 4 =
W1 9 1 W2 5 0
X X
7 4
s ] HERE
fay Aay
5) 118 x 6 = 6) 209 x 9 =
35911 1 1 8 25911
X X
HEN HREE
Ay nay
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1) 382 x2 = 2) 5x271 =
3591 3 8 2 39911 2 7 1
X X
2 5
Ay gy
3) 491 x 6 = 4) 563 x 3 =
3591 a4 9 1 39911 5 6 3
X X
6 3
nay nay
5) 7 x 404 = 6) 680 x 8 =
W 4 0 4 3591 6 8 0
X X
7 8
Aoy nay
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(3) Wsuuansitnmanm

1) 141 x 6 = 2) 4 x 319 =
39911 3591
gy Ay

3) 206 x9 = 4) 5x 561 =
35911 3591
nay nay

5 731 x6 = 6) 450 x 8 =
35911 35911
naU faU




